[ px-gx ] npgx py-ay hpay
I Entries 20683 _ - Entries 20683
= Mean  -0.005846 6000F Mean 0.008123
- RMS 0.02484 = RMS 0.03851
5000~ 5000 |-
G0 4000~
3000 ”l 3000
2000 2000~
1000~ 1000
Frnnnflnannllnnnnallannnll ._r.._r..._...._...._.... |...._...._..r..l|L__ | PP R R
9504 03 02 01 0 01 02 03 04 05 9203 02 0.3 0.4
Entries 20683 Entries 20683
= Mean -0.003355 - Mean 0.0001134
2400 = — RMS 0.05778 3500 RMS 0.076
2200 C
2000 3000~
1800F- -
= 2500
1600 C
1400 2000
1200 C
1000~ 1500~
800 -
600E- 1000 -
400 500 nl
200 F
E 1 I B | ol | ISP PP R - 1 __rL._.L._.r._;..
®2™""03 w02 01 o0 01 02 03 04 Ly 0.2 0 0.6 0.8




